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int gradeO, gradel, grade2, grade3, grade4;

int grade[5]; grade0 grade(0]
gradel grade[1]
grade2 grade[2]
grade3 grade[3]
grade4 grade[4]
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type array_name[size];
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int grade[5];
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grade[2] = 10;
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double real[5] = {0, 1., 2, 3., 4.};
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int a[100] = {0};
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intall ={2,3,4,-7s  /*all®] A7|= 4%/
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char s[] = “abc’; /* L2 S */

char s[4] = {'a’,’b’,'c’,\0'};
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int a, b, *p, *q, **r, **s

a = 100;

p = &a;

q = &b;

*gq = 300;

printf (Yaddress of a $p\t value of a $d\n”, &a, a);
printf (Y“address of b $p\t value of Db sd\n”, &b, b);
printf (“pointer operator - p-g=2%d1\n”, p - q);
printf (Y“int operator - p - g=%d \n”, (int)p - (int)q);
r = &p;

s = &q;

**r = 1000;

**s = *p + 400;

printf (Yaddress of r $p\t value of r %$d\n”, &r, r);
printf (Yaddress of s $p\t value of s $d\n”, &s, s);
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/* Printing an address, or location. */
#include <stdio.h>

int main(void)

{

int i=7, *p = &1;

printf ("$s%d\n%s%p\n",
" Value of 1: ", *p,
" Location of 1: ", p);
return 0;
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void swap (int *p, int *q)

{

void swap (int *, int *);

int main (void)

int tmp; {

tmp = *p; int 1 = 3, j = 5;

xp = *q; swap (&i, &7j);

*q = tmp; printf ("$d %d\n", i, 3);
} /* 5 3 1is printed */

return 0;
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address of p = %p, value of p = %p, value of *p = %d\n”, &p, p, *pP);
address of a[0] = %p, value of a[0]= %d\n”, &al[0], al[0]);

value of *(p+10) = %d, value of al[l0] = %d\n”, *(p+10), a[l0]);
value of p[l0] = %d, value of *(a+10) = %d\n”, pl[l10], *(a+10));
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H#Hdefine N 100

int *p, a[N], sum ;
Version 1
for (i=0,sum = 0; i < N; ++i)
sum += ali] ; *EE sum +=Fa +i); */
Version 2
for (p = a, sum = 0; p < &a[N]; ++p)
sum += *p ;
Version 3
for(p=a,i=0,sum =0; i <N; ++i)
sum += p[i] ;
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double sum(double af], int n) /* nis the size a[] */

double sum(double *a, int n)  /* n is the size a[] */
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